& o p0ll &alS i amublizall Ja§ givs alle oYl (&S i
Jszall &bl o &S i gl adla fcol

CJI)'.yJ:
o aillaJl goit MIFARE® iy poill allay
* Ossp tlite pual $iubo oo Hgrell dalS J15o]
o il Caygg Suall : :
o Jlosiwl .J)lis| cuns Jaall s glogl pusi oSy MIFARE® [ qia) Jadio JSuin uidl wlolS of w5l
Lo MIFARE® JlasYl qid (,Say Lo doxiimall g roll dalSy e lslla,.
o Wl 9 il 200 g 8,D] Wbl 2 izl Jln cund golylly Jod awd Jud o wBladl pusi .
o Wl (9 O qas yundl dalS 50 g 6,1] 4o e dalS 1 .3J,Lis] o> lelingi oSay yudl wlalS.
o SV e Lad, 12 g pall wlalS Jls) sis Lgolazimwl (Say S5099 jso.
o &S yisell d>giie Ao 9 Jaall e diSay.
o las plusl Il
* g2l 5925 p2e 0Ly
o 25 uan plaziwl (Sey asllall wllayl 3.
o olaziwl 1gosll pu gazll MIFARE® 15ly ey o8 wloIl gl g all dalSy e lslla,.

agiall yuleall:

(ganluLUmJlS i oo izl 4) cgd 6.0 g2l Jasll
100 !‘wo) & mSlmJl aslall @bl UA

200 ‘og) & aSaolpll aslall wlslis]mA

LisT ol el 10 14, ladl o

4.5 g2l 5929 pac &, L]V

25 !¢ & osiv il @8lwalIMM

0 95l uas JoxlI'C~70°C

80= : Josll agb,7

s9sall yog,e!


http://www.smart-home-security.cn/ae/news/High-security-Magnetic-lock-manufacturer-Password-ID-card-access-control-company.html
http://www.smart-home-security.cn/ae/news/High-security-Magnetic-lock-manufacturer-Password-ID-card-access-control-company.html
http://www.smart-home-security.cn/ae/news/High-security-Magnetic-lock-manufacturer-Finger-ID-card-time-attendance-company.html
http://www.smart-home-security.cn/ae/news/High-security-Magnetic-lock-manufacturer-Password-ID-card-access-control-company.html

. Part Name

)

_1 | Fromt k Assembily
Back Lock
Main Operation Area

- |@£

— || Battery Cover

Qs

Mortise E

(1= @“ﬂ
U
il
;

T
(o

Back Side Front

Part Name:

|. Hexagonal screw (M3*8)
2. Cylinder

3. Battery cover

4. Handle

5. Front lock assembly

6. Door

7. Square shaft

8. Back lock assembly

9. Fixing screw (M3)

A 10. Serew cover

11. Cylinder fixing screw (M3*70)
12, Wood screw (M4#235)

13. Mortise
















